For x” + 17 =631, find the equation of the tangent line at (3.3)
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Find all points where the tangent line to y°—xy = -6 1s either hanizontal or vertical.
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Topics to Review:

Power rule, product rule, quotient rule, chain rule

Derivatives of trigopnometric functions

Applications of derivatives...

*slopes of tangent lines
*rectilinear motion

Implicit differentiation

Higher order derivatives



Review Questions...
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#1c, d #1 (ii)

#/ b, d #3

#8 b, d #4
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Bonus #13 #3



Test:

Tuesday, November 15
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